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QUESTION 1

NG-SDH equipment can be used for complex networking. Which of the following statements about protection or service
configuration are true? 

A. On a network where MSP rings and SNCP rings share fiber resources, all timeslots can be configured for SNCP
services, because SNCP service configuration is flexible and SNCP services does not require special overheads to
transmit protocol information. 

B. Two SNCP rings are tangent. The source and sink work in dual transmission and selective receiving mode. The line
boards corresponding to the tangent node are configured with bidirectional pass-through services. Given the preceding
configurations, services can be protected after a fiber cut. 

C. Two MSP rings are intersected. To prevent service interruption upon failure of one intersecting node, you need to
configure an SNCP service pair on an intersecting node to support dual transmission and selective receiving. 

D. OSN equipment does not support logical systems. You do not need to specify master and slave nodes during DNI
service configuration. 

Correct Answer: CD 

 

QUESTION 2

When end-to-end trails fail to be created due to cross-connection conflicts, the NMS displays the conflicting cross-
connections and conflict causes. If you delete the conflicting trails, services are not affected. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

Which of the following functions, when enabled, allows the transmitting laser of an optical port to be automatically shut
down when the IN port fails to receive signals? 

A. LCAS 

B. ALS 

C. ALC 

D. LPT 

Correct Answer: B 

 

QUESTION 4

H31-321 PDF Dumps | H31-321 VCE Dumps | H31-321 Study Guide                                2 / 3

https://www.passapply.com/h31-321.html
https://www.passapply.com/h31-321.html
https://www.passapply.com/h31-321.html


https://www.passapply.com/h31-321.html
2024 Latest passapply H31-321 PDF and VCE dumps Download

The actual optical power received should meet the requirements: (minimum sensitivity + 5 dB) 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 5

The timeslot numbering policy used on Huawei OptiX NG-SDH equipment is ITU-T G.707-compliant sequential scheme
(timeslot scheme) and that used on third-party equipment is interleaved scheme (line scheme). Which timeslot of third-
party equipment can be interconnected with slot 35 of Huawei equipment? 

A. 34 

B. 35 

C. 36 

D. 37 

Correct Answer: B 
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